| dE/dx estimator 1 |

1

0.8

0.6

0.4

0.2

...........

Entries 1
Mean
Std Dev 0

................................

Entries 1
Mean
Std Dev 0

..........................................................

0.8}

0.6

0.4

0.2¢

LR

0.95%

| dE/dx estimator 2 |

0.8~

0.6~

0.4

0.2

1_

..................

..................

........................

Entries
Mean

Std Dev

Entries

Mean

...................................................

Std Dev

Ryl

0.95

o

1 2 3 45 6 7 8 9 10

=—=— DQM_TT__mkFit-DQM_init_orig

=—e— DQM_TT__mkFit-DQM_init_modi2

Mean
Std Dev

Entries
Mean
Std Dev

o o pldo o Y

.......................................................

10 20 30 40 50 60 70

80

.....................................................................

CTToTeS

Mean

: |_Std Dev

| Entries
.| Mean

Std Dev

o plkdo N e

10 20 30 40 50 60 70 80




	Contents
	Page 1


